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Topic:- Child Development & Pedagogy (CDP)

1) As a teacher, what type of strategy you will follow in an inclusive classroom? / T& faT& &
¥ #H, 3T vF wATAN Faw A fFE yFR A wEfa F aree w67

1. All the above / 3Uh G
2. Only Peer tutoring / el Techd! TU&T0T

3. Only Cooperative learning / hdol TehRT Y&

4. Only Collaborative learning /hdel HeAMcHD AT

Correct Answer :-

« All the above / m'ﬂ?ﬁ g

2) A person with capacities to respond appropriately to the moods, temperaments, motivations,

and desires of other people have good intelligence. / AAIGM3AT, TasE, Womat 3R
T AR Y sTonit W 3T yfafkar & i avHar o safea J e
___ ¥q¥19 §r I

1. Intrapersonal / JRTdTTheh
2. Interpersonal / 3idddThed
3. Naturalist / Uepfaary

4. Spatial / ¥UTfAh

Correct Answer :-

. Interpersonal / 3cIddThed

3) What type of learner is a child who learns best by taking notes during class and reading them

aloud before a test? / T godT W yhR &1 Ramdft &, St Fam F e Aew dww 3
qdial & gge 39 TR # 9ehT dga¥ d1Edr g2



1. Reading/writing learner / Uod /i@ fandf(Hr@a arem)
2. Visual learner / T fRyameff

3. Cognitive learner / TS frameft

4. Descriptive learner / gquidTcHes femmeft

Correct Answer :-

« Reading/writing learner / &< /oi@< fRremefi (@@=t arem)

4) What type of parenting style is characterized by giving no rules or structure to children? /
Ial F P AT A1 TEAT F & A 7 yFR A afsmas Aol fr [FAwar sar$ s
e?

1. Enmeshed / 3el&AT g3
2. Permissive / HW
3. Authoritative / JTTQ®IRE
4. Authoritarian / 3TTIRRATG

Correct Answer :-

5) What phenomenon is experienced when one knows a person’s name but cannot remember it
in the moment? / fFH! cAfFT T AT gaT & AfFT demer I A IS W foFw e Fr
IHT3E graT 82

1. Tip-of-the-tongue phenomenon / f&U-3iTHh-g-ciar Tear
2. Recognition error / HIAT '3'%

3. Forgetting / 3elell
4. Retrieval cue / ‘gﬂ'l;ﬁﬁ Tohd

Correct Answer :-
« Tip-of-the-tongue phenomenon / feu-3itw-g-clar gear

6) What theory focuses on the degree to which new information is mentally analysed? / ST T

fgua 58 W tae SRy w1 § & 78 TR #1 59 75 9F ANRE T @



fareatyor faar Sirar @2

1. Information processing theory / {I@IHT-EI'@F&WUT iG]

2. Relational analytical theory / HIUWRD [aAWUTcHD FAgid

3. Levels of processing theory / UfehITRIoT fAgd & TR

4. Deep level processing theory / IT&X T &l UfshITenoT fAgid

Correct Answer :-

« Levels of processing theory / UTehITRI0T TAGId & TR

7) Impulsivity is a characteristic of the following disorder. / TaIHAN(FFIeHAe) AFfaf@d
faeR & vF faevar g

1. Eating Disorder / HIsd R

2. Attention Deficit Hyperactivity Disorder/ €T 3T Efehaar AR
3. Learning Disorder / 3@ R

4. Post-traumatic Stress Disorder/ T8 3fReTdSled dad faddR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder/ €Tl 3#Ta AihadT TAdR

8) Who among the following is not a learning theorist? | faf@a & ¥ siF F e
Rgeiasr adt 872

1. E.L. Thorndike / USdS UA UiISBHh

2. E. Erikson / . TRa&&@a

3. B.F. Skinner / &1.U%.f&he¥

4, Ivan Pavlov / 3dId Uldelld

Correct Answer :-

« E.Erikson / §. TRa&a<

9) According to Vygotsky, adults can help a child learn by building upon their knowledge with
new knowledge using techniques. / AIFMcaHT & HJHR, IIER deelel &1



3IYART F&F AT A F AT J9A AT HT AATT F&F 0F do8 N d@a & Agg W
qFd ¢

1. Scaffolding / THTHBITESIT

2. Psychological / HAArd<ATAD

3. Proximal development / THIUTY fahrd

4, Ethological / 39l dlfoThd

Correct Answer :-

« Scaffolding / THTHHITeST

10) According to Jerome Bruner, representation involves encoding action based
information and storing it in our memory / S LGRS & HHR, yfafafca &
uﬁﬂﬁwwmmmeﬁwaﬁ%sﬂwsﬁmm#wﬁaﬁmm
gl

1. Iconic / RfAeTTA®
2. Figurative / 3TelehT R eh

3. Enactive / ST TcFed
4, Symbolic / UddTHSD

Correct Answer :-

. Figurative / 3TeldhTIXh

11) According to John Dewey, the teacher plays the role of a in the learning process. /

Stet 3@ & IqER, e T A afrr F o a?raﬁmﬁmm%l
1. Guide / AWGYH

2. Facilitator / HAYR

3. Partner / AT

4. Philosopher / GITMEST

Correct Answer :-

o Partner / rlr



12) Principle of ‘zero rejection’ means —/ ‘e 311-‘&35% Cal ﬁagi?r' w1 3T § -

1. no child with disability will be denied opportunity to education. / ot +}f faaai =t @1 R & sr@awR ¥ dfid
el fobar S|

2. no child with disability will be discriminated upon. /fr&T 8t fecTmeT g & WY AGHT AT
fopar ST

3. no child with disability will be given admission. / fh&Y &7 fecarer a=a &t yaer gt fear
ST |

4. no child with disability can be served in regular school setting. / fardil it feaiT a=d &1 afid faemea
TR § T foar o dahan g

Correct Answer :-

« no child with disability will be denied opportunity to education. / ot +f} faaaiT s &1 f1en & SawR ¥
dferd 81 foban e |

13) The Big five personality traits is also known as /| 93 dTg safddca d&Ton Hr
& o F it S S @

1. BROOK scale / §[ch Ehel

2. RIVER scale / {IaR Thet

3. OCEAN scale / 38T Thel
4. CANOI scale / W—ﬂé Thel

Correct Answer :-

« OCEAN scale / 3N8ad Thol

14) The famous psychologist who established the study of genetic epistemology which explains
the process of how people develop cognitively from birth throughout their lives is: / dg§ 1)

mﬁmﬁmﬁmﬁm@ﬂmm—wﬁamﬁﬂ?mwaﬁrwaﬁ,sﬁwm%r
SATEAT FIAT ¢ & 5 IR aFd siad W&ed Ie7 ¥ F9EcAS W ¥ Q&g @
g T

1. Arnold Gesell / 3dTes AT

2. BF Skinner / &f T% EpaR

3. Howard Gardner / {—'?I_cl'lé M

4. Jean Piaget / Sl TOamaY



Correct Answer :-

« Jean Piaget / Sii O

15) The cells in the body that conduct information to and from the brain are: / iR 7
HAFT T ARRTSE 3N 39F AT TFFRA F FEaT Far &, 7= g &

1. Reproductive cells / Ul PIRAPIT
2. Muscle cells / ATGUMNT HITABT

3. Nerve cells / dT3epT IfAepra

4. Blood cells / T hIfRABIT

Correct Answer :-

« Nerve cells / dTIHRT PITABRIT

16) Assuming another person’s perspective is known as: / {H} 3rea safFa & tieHor I Tgor
FATE:

1. Role strain / $f37eRT GaTd (el T¢A)

2. Role making / $f3¥eRT TAATOT (el ATehan)
3. Role distance / {1 g1 (et [SEH)

4. Role taking / $fepT ST (T <fehaT)

Correct Answer :-

» Role taking / Sﬁ?ﬁr oIt (et <fehan)

17) Which sense takes the longest to develop? / fr¥ Taga I RAFAT gt & WHaw a7
AT 82

1. Smell / =TT
2. Hearing / A<qdr
3. Taste / ¥dIq

4, Vision / TT®

Correct Answer :-



« Vision / &T®

18) Which of the following is the final stage of reasoning in post-conventional morality

according to Kohlberg? / fe1faf@a & @ &l AT Figaadt F AR IaR-ANFHId Afawhar
H & &1 AfaeT =T 2

1. Morality of universal ethical principles / Arddifere Afds ?FJ\FZIT $r Afddpdar

2. Morality of contract / FHSAII I Afdddr

3. Orientation toward punishment and obedience / gUs 3R 31T_lT & 3R el
4. Social concern and conscience / HTHTTSIH H’gﬂa?ﬂ? 3R s

Correct Answer :-

« Morality of universal ethical principles / Arddifee Afds EFL?ZIT &1 Afawar

19) Grade Acceleration is recommended for educating the children. / gl Y
ffeéra #3 & forw 35 cavor i RArwriver fr aret 31

1. Normal / ATYROT

2. Disadvantaged / afd
3. Gifted / UfemRITelt

4. Backward / &g

Correct Answer :-

. Gifted / TR

20) According to Freud, the term hysteria describes:/ WTas ¥ AR, {1 2reg @1 314 3:
1. A phobia of animals./ ST &I Tdh HifaAT

2. A phobia of people / 9N &T Teh HITAAT

3. The physical reaction to mental trauma./ ATTH® ATETT & forw ik gfaferar

4. The physical reaction to emotional trauma/ HTdATcHD T & fow qRIRG gfaferar

Correct Answer :-

« The physical reaction to emotional trauma/ HTdATcHD THIT & T ARG gfafehar



21) Behaviorism was founded by / TA8RAIG 3% gRT RIS faT 14T UT:
1. Tolman /E'j(_f&l?-r

2. John B. Watson / Sifel Y .aTcH

3. B. E. Skinner / &1.T% T&haT
4. Thorndike / ?-llc'-‘lglsiﬁ

Correct Answer :-

« John B. Watson / Sifd &t .a1ca

22) Which of the following is not a characteristic of the discussion method of instruction? /

fFufafad & Q@ w1 fAdw & fR usfa 9t v fauar a8 82

1. The learners are trained for reflective thinking. /fﬂ&iﬂﬁaﬁﬂﬁﬂﬁﬁﬁﬁ*ﬁ'@mm
ST &l

2. It involves competitive cooperation. /s‘aufruﬁm%ﬁw Qﬂ‘@fﬂ%l
3. It is an oral and written method of instruction. /Wﬁéﬂﬁ@ﬁ@?ﬁﬁhmﬁm%l
4. It is a group centred process. / I8 U AMR® dfad Ufshar 71

Correct Answer :-

 Itis an oral and written method of instruction. /Wﬁé?ﬁﬁﬂiﬁmﬁﬁ?mm%l

23) The shape of one’s nose is determined by: / fFH! T ATF FT IFR FTH GaRT uiRa
g &

1. Geography / SPﬁH

2. Environment / GTaR0T
3. Heredity / 31TeJelrehell
4. Culture / ¥pid

Correct Answer :-

« Heredity / 3TTeJd e

24) Learning should be focused on: / I W &g Fga fFar s TR



1. what child is learning / aT FaT 3fAIH R [T &
2. performance / Tt

3. getting job / AR UTH AT

4. marks/grades / 37/ U

Correct Answer :-

« what child is learning / I=aT &7 37fAIMH HT /T )

25) According Jean Piaget, children develop abstract logic and reasoning skill during L

e R & e, ¥ ahret Fedt F I a% AR a& e RsEfa g B
1. Concrete operational stage / gl HihATcHd ITTEAT

2. Formal operational stage / 3-1?5% AihaTcad ae
3. Preoperational stage / CE-‘T- AfhATcHAR AT
4. Pleasure / 3Tdg

Correct Answer :-

« Formal operational stage / W AfRdTcAS TaEdgT

26) The method which is based on the fact that students learn association, activity and

cooperation is known as: / a8 faftl S} 37 awf wR sneurfya gt @ fr o agfew nfafafy oz
TeanT Hiwd 8

1. Problem- solving / GHTIT- HATYTA
2. Project / STt

3. Demonstration / UG

4. Discussion / faaR-faaet

Correct Answer :-

. Project / U

27) Inclusive education requires that schools should be free from the effects of negative
forms of ./ TETa=h e & g smazae § fr faeem, & TPRIAS &4l &
UHTT A G &l |

1. Imbalance/mﬂﬂ?-f



2. Differentiation / 37dheled
3. Diversity / fafarerdr
4. Discrimination / G&TdTd

Correct Answer :-

 Discrimination / G&TOTd

28) A commercial advertisement of food produces saliva in our mouth. This is because of
: ./ YIS &1 T AT fagmu= g9R 4 # dR &1 IdTe $HRdl 3| 3TP| aolg
I

1. Operant conditioning / 3iTUc HSIRITT

2. Sign learning / Wciih 3TTQITH

3. Classical conditioning / Felli&dhel HeIRAfT
4. Latent learning / JCd 3T

Correct Answer :-

« Classical conditioning / FellTdhel haIIfar

29) Stress affects learning negatively by: / T9Td THPRIH® ¥U A @A B YHIAd Ha1 21
1. causing learners to act out or zone out./ Rrenfdat & dF A & o aRT |

2. teaching learners to improve their behavior./ 30l TTaeR H YR T & forw Renfiar ot
el |

3. encouraging learners to discuss their problems with peer. / @I & TTT SAh AT WX

Tal X & fow Renfdat & dicafea &

4. releasing adrenaline./ TSATATSA STRT AT |

Correct Answer :-

. causing learners to act out or zone out./ &Il P FF FA & fow YRT FT|

30) helps the visually challenged people to read and write using finger tips and special

aids. / dAgeT el A 3ot f RAY (erfew) ik Ry areer & 3wl garn
vea 3 fr@sr & geradr #ar B

1. Lovass / o[dTH



2. Braille / s

3. Idea books / TR ‘I{?ﬁ; (3msfsar qFd)
4. 1dea starter / fTOaIR URH® (33T TETex)

Correct Answer :-

« Braille /8@

Topic:- General Hindi (L1GH)

1) HIYFEN A U TRRER &1 T ISt 7741 §1 TS AT ggd JeTa-1 suiran it evraran g1 3961 war
Y 95 U9 g1 49 B H T 7 3R o1 g 181 T 31 Feam BRI & el €1 wa-uid), vefent el |
T BER! H ITAAT g3 U 3¢ 954 31T aiTdT ¢ | JHY ot 37 uTH HTw! g1 ;M & wiq feq &) wft e
STl 3 3R STHHTH &3 T BT 81 ST @ a9 BT P qTeR IR W aed SAdId AIAS & WeR a8 Tare iR
¥3q § SR Upfa it BeT fHERa &1 379 A 39 9 &Y giy frerdt 31 iy gu ot 399 faeie-waf ava €,
8 <t uTH 39 gU BRif g9 3t Hed 3t Y A Ry wura & Tara § I &) Wy it Yifd TR 3a §

IUYT TR B UGHR A QT 7T Ui & IR 9159 :
UR: O P g FeA & 71 a1y 82

2) UIYGSTH 7 U WTHRER &1 Tl HISY a1a1s 8 | 3P WA Igd gera-1 aufiar oft erramn 81 39! wan
A Iga U0 B 1 4 B HY EY @ ok A g 18 T 31 Pa® ST & et ¥ 1 pa-uie), veerfaa 9 e ®
T FERI W ITAdT g3 UL 3¢ 9§ 31T aTdT ¢ | I0g ot 37 Ut HTWi ¢ 1 M9 & 99 fe7 &) WRft e
STl 8 3R SITHHT B3 W H1 8l oI1dT § 99 P! &b 9Tg¥ Igay W 96T SAATHR THE &b TR I8 el W
934 § 3R ypfa Y Ser fFera &1 379 9 39 94 &) gita frerd) 31 fr gt S99 faeie-aaf w4 €,
8 @t U ¥ gU BRif g9 3 e F g A fjr wura & Tara § W @) Wy i Wifd [ER 34§

ST TR F UgH - fT T us & IR Farsd
T AT BT yafaars Mg 781 82

1.9

2. 3TFR

3.8}



4. 3ThIRA

Correct Answer :-

3) HIYGEr A U TRWR &) Tt FH1d} 97a1s 81 ITP JTHA Igd era-T Siftar it evrarar g1 39! Fan
A Iga U0 21 4 B HHY EY @ SR A g 1E M 31 Pav STy & et §1 pa-uig, verfaa A g |
T BRI W ITAAT §3HT UHT 3¢ 95 35T TaT 8 | 904 WY 39% U S1wl 31 I Y 99 o 3t Rft g
ST 8 3R SITHHTH B8 W &1 8l oIl § 99 P! &b 9g¥ Igay W 96T SAAHR THE &b WK I8 e W
339 € 3R Ul B e FreRa ¥1 378 91 37 79 ) ey frerdt 21 frer gu o o7 fRrle-waf v €,
8 A U T g¢ BRI §5b B e oI g | T wura € Tura # W #f W@y o Hifd TeR 3 7

Iue TN H1 UgH A AT 7T us & IR 9arsd
UR: ‘e’ BT Ugiaar Weg A8l 82

1. gAd

2.H9

3. TG
4. o

Correct Answer :-

4) HIYAE A AU FHRWR Pt T8t F1SY a7a1E § 1 ITP WA Tgd Jera-1 Suian o aram 1 96 sar
Y 95 U9 g1 4 B H T8 7 3R o g 81 T 31 Feaw B & et €1 wa-uid), vwfeal 3 el |
T BRI H ITACT §3HT U I 9gd 33T TaT 8 1 97y WY I9% T S1wl 31 I &Y o9 o &Y wft e
et § SR ST 5 T FT 1 1T § 9 BISt & ITe IgeR TR A& SAIDHR HAIG &b TgN 98 T UR
o4 & 3R ypfa Bt Ter R &1 378 A 39 A & git firereht 81 iy gu ot S farie-waf #ea €,
8 uTH 39 gU BRIf g9 3t Hed 3t Yg A T wura & Tara § I &) W it Yifd TR 34 &)

ST TR F UgH i 3T 7T us & IR qasd
;e | T aread 82
1. Tl AT Fd & 90T § g1 Al [oad

2. ge18 T tanrieed <fie

3. 3ffer FUs
4. g P 3Neel drell @el

Correct Answer :-

o POl AT F &b G F g1 Al o



5) WIYGERT A Ut TR $t T4 Bt gq18 3| S ATHA 9gd GeTa-1 Fiitan W} Taman g1 S9dt war
Y 95 U9 31 4 B H T 7 3R o1 g 181 T 31 Feam USRI F et €1 wa-uid, vfent el |
o PRl # ITACT §3HT U I 9gd 33T TaT ¢ | 9HY W I9% T S1w 81 ¥ & o9 o &Y Rft e«
STl 3 3R STHHTH &3 T BT 81 SIdTl @ a9 BT P qTeR IR W aed SAdTd AIAS & WeR a8 Tare W
¥3a & SR Upfa it BeT fHeRa &1 379 A 39 9 & git frerdt 31 iy gu ot 399 faeie-waf ava €,
8 <t uTH 3 gU BRif g9 3t Hed 3t Yg A Ry wura € wara § i &) Wu it Yifd [ER 3a §

Iued TN B UgH A AT T usl & IR qarsd
U: UgRT W A A /T |2

1. fagelr

2. deddH

3.ded

4. SAS

Correct Answer :-

. SRS

6) ATYTS A Ut HRER o1 Tt FY 57413 B 1 IqP A ggd Gera-1 Suiiar oft eraran 31 396! war
T 95 U9 g1 49 B H T8I 3 3R oI g 181 T 31 Fraw B & et €1 wa-uid, Iwifeal I gl |
T FERI W ITAdT g3 UL 3¢ 9§ 3T Tl ¢ | I0g ot 37 Ut HTW! 81 M9 & 99 fe7 &) WRft e
STl 8 3R STHHT HS 11 P71 81 AT @ a9 BT P ITe¥ Igay R a6 SAATH A P WeR a8 e W
934 § 3R ypfa Yt Ber fAera §1 379 9 39 94 @) gita frad) 31 fr g af 399 farfie-aaf #-a €,
8 <t UTH 39 gU BRIf g9 $t Hed 3t g d T wura & wara § A &) W it Wifd TR 3d &)

IUad TR P UgHR A1 2T T s F IR Farsd

U XMW & THI BT T AT 5T 82

1. el HTHATA B T B & ST &

2. Fadl & & I T S T

3. fea &1 Iedt o STl § 3R AT FF W1 FT A AT §; qreAr
4, a1 &1 IEf gE ST §

Correct Answer :-

o o fr et oo Sl & 3R AT B T T A AT §; QA

7) WIYGERT A Ut TR $t T4 Bt g9a18 8| S ATHA 95 Gera-1 Fiitan W} Taman g1 396t war
Y 954 49 31 4 B H T 3 3R o g ) T 31 Feam USRI F ettt €1 wa-uid), vefent | el |
T BER! H ITAAT §3M UL 3¢ 954 33T aiTdT ¢ | JHY ot 37 UTH HTW! g1 ;M & 9 e &) Rft e
ST & 3R TTHT FF T BT g1 AT § q9 BIT & TeR T IR q%d SAATHR AHE S HEN I8 T W
¥3q § SR Upfa &t BT R &1 379 9 39 9 & giey frerdt 31 firy gu ot 399 faeie-waf ava €,
T8I @Y UTH 7@ g¢ B g9 F1 Geo o1 Ug A AT wura € ware # W & W $1 Hifd ToR 34 &



IUT TR P UgHR A T U it & IR Farsgd
A e F orfty am g2

1. 9T

2. FRE

3. ferr

4. 30HN

Correct Answer :-

8) WIS A U TR F1 T HId} 9741 81 ISP AW ggd Jera1 Si=r +f avrarar 81 396! Fer
A Iga U0 B 1 4 B HY EY @ ok A g 18 M 31 Pe® SRy & et ¥ 1 pa-uiY), verfaa | e |
T FER! W ITAdT g3 UL 3¢ 9§ 31T aiTdl ¢ | I0g ot 37 UTd HTWi ¢ 1 M9 & 99 fe7 &) WRft e
Tl 8 SR STHUT H3 W1 T g1 SaTl § a9 B! P ITeR IR W aed SAATH H-G & WeRR a8 Tard iR
934 § iR yopfa Y Se1 fFera &1 379 9 39 94 &) gita frard) 31 i gt S99 faeie-aaf w4 €,
8 @t uTH ¥ gU BRif g9 3 e $ e A fjr wura € wara § W #) Wy i Wifd TR 34§

ST TR F UgH - fT T us & IR Farsd
U AIYdEN f5d UPR & 3 82

1. geeX HTHERY arer

2. ¥ et drel

3. ade afha et

4. BN 3N 3 O

Correct Answer :-

9) AIYAGRT 7 AT HTHRER Ft T4t BT TaTS 3| ITP WA Tgd Jera-1 S ot avram g1 ) Hen
Y 95 U9 31 49 B H T 7 3R o g 181 T 31 Feam USRI & et €1 wa-uid), yefenl 3 el |
T PRl # ITAAT §3HT U I 95 33T TaT ¢ | Ay W I9% U S1w 81 I &Y o9 o &Y _ft e«
STl 3 3R SMTHHTH &3 W1 BT 81 ST @ a9 BT P qTeR IR W aed SAdId AIAS & WeR a8 Tare W
¥3q & SR Upfa t BeT fAerRa &1 379 A 39 9 & giy frerdt 31 fir gu ot 399 faeie-waf ava €,
8 <t uTH ¥ gU BRif g9 Ft Hed 3t Y A Ry wura & Tara § I &) Wu it Wifd [ER 34§

IUYT TR BT UGHR A QT 7T Ui & IR 9159 :
U: HIUGSTH St BT & ATHA T UT?
1. STl

2. STl



3. Azl
4, gt

Correct Answer :-

10) HIYGSH A 3T HHRAR Pt T4 FSY g79a1E 81 TP A 9gd Jera1 it ot Tramar g1 396
FAT A 95 W9 21 U7 D1 BT T | 3R o @ 1 T B 1 Peaw AN & et €1 pa-me, el &
gl ¥ @ waR| o 3Tadl g3 U S 9§ e aTdT ¢ | 90y ot 37 Ut HTWi g1 M9 Y 9iF fa
TR o STl @ 3R SRTAT H3 W HT 81 ATdT ¢ 99 HIdt & qTex Igar U a6 SATH HI-IG & TGN I8
T IR 954 & MR Upfa Ft Ber Fera &1 398 9t 3999 79 &t git fradt 1 i gu ot 37 famig-w=t
P g, el @l U I gU BRif g9 FY e F e W fir wure € Wara § W @) Wy Y Wifd TR 34§

ST TR F UgH - fT T usY & IR Farsd
UR: HIYGGRI ®! T 9gd T3 Il 82

1. BeaRT # STl 37 Ureh

2. T T AT

3. FAHAG I

4. Uepfa &7 Ser fAgRar

Correct Answer :-

11) ATYGERT 7 3T TRWR B 0 HIdt 97a1s 81 P JTHA Tgd JeTa-T1 aitan ot Traman 81 39w
AT Y 9gd AW 81 99 B F T8 ® iR saw g Y T 31 e iy & eerh ¥l wa-uid, vhrfaay |
gioil § T BaaR) § ST edT 31T U1 38 9gd 3r<ST &Il 8 | Gy Y 37% Uy S1w! 81 XM &) o fq &
TR} gd ATl B 3R ST HS T H1 8! a1 & 99 P13t b 18R Tga W a%d SAdIh Ha-G & Tglk a8
el IR 934 € MR Upfa &Y TeT FgRa €1 379 U 391 1+ &) ity et 21 fr gu <t 3= famie-=at
HYd &, T8 @t U I 8¢ BRif 55 P Aed ) Y # fou wara € ware § e 3 waw Bt Wifd TeR & g

Iued TN B UgH A fau e usl & IR qarsd
UR: AIYIEE $I fa 91 & 99 Y12

1. P&

2. HIFHT

3. el

4, FafT

Correct Answer :-

o chell



12) HIYGER 7 3T TARWR Bt 70 FIdt 97a1s 81 ISP JTHA Tgd JeTa-T1 aittan ot Traman 81 391
T 95 U0 71 ¢ Pt HY 7 | MR A g e T B | Yo ARy & snetht ¥ Ba-nd, IbTiea &
B ¥ & BaR) W ITAdr g3 U 3= 954 3T Tl ¢ | [0 ot 3% UTH HTW! 81 M9 & g fa7
TR} & T @ SR STHE B 1 P1 8) SIaT § 99 SIST P dTex IgaY W a6 SAATHL HETE & eR a8
el W 354 & 3R Uopfa &1 a1 MR §1 399 9 39 74 &1 iy firerd! 31 fr gt 39 fag-==t
Fd 8, T8l al UTH W §U BRI §ad B Yoo &1 g § 3T Tard g Tara # Hean +) Wy ) Hifd TR 34 €1

Iue TN D1 UgHR A AT 7T usl & IR sy
T HIYde e U | F 32

1. 378TH

2. Gl

3. e

4. 38T

Correct Answer :-

13) HTYGERT 7 3 TRWR B 70 HISt 97a1s 81 P JTHA Tgd Jera-T1 aitar ot aerarar 81 3+
T 95 U B 1 U9 Pt HHY LY § 3R T g 1 T B | Gre¥ Uy & sett § 1 pA-nd, IbTie |
Bioil § T BaaR) § ST edT 31T U1 S8 9gd ST aTdT ¢ | g Y 3% Uy S1w! 31 /M &) o fq &
TR & STl @ 3R SIRTAT H3 W HT 81 W17 ¢ 99 HIdt & aTex ggar UR a8 SATH HI-IG & TN 98
TR IR 934 € MR upfa &) TeT fFgRa €1 378 U 371 1+ &) ity et 81 fr gu <t 39 famig-=at
FRd g, TR dl UTH W gU BRIT g9 Ft Hed 3 g H 3T wura & wara § e &1 WH it Hifd TR 3d §

SUe TR P UgHR A T U it & IR Farsgd
UR: TG & AR TR W B 98471 82

1. T

2. ATYICTH

3. ATYGGH & gRErIS

4. ATIIACTH

Correct Answer :-

14) UIYGSRT A 3T FHRER Ft T4 Y I9a18 81 3P A 984 JeTa-1 it ot Traman g1 396

FAT N 95 U0 71 ¥9 Pt w78 | 3R I g e T B 1 Yo IRy & snetht ¥ Ba-nd, Iwriea |
Bl ¥ @ waR) W ITAdT g3 U 3= 954 33T aTdT ¢ | JHY ot 3% UTH HTW! g1} &) oig fa7
TR 2@ ATl 8 3R SIRTAT H W FT g1 |17 ¢ 99 HIdt & qTex Iga IR a8 SAATH HA-IG & TGN I8



el W 354 & 3R Uopfa &1 a1 FeRa §1 3799 9 39 W4 &1 gty firerd! 31 fr gu <t 399 fag-==i
Fd 8, T8l al UTH W gU BRI §ad B Yoo &1 Yo § 3T Tard g Tara # Hean #) Wy @+ Hifd 9 34 2

ST TR FI UgH i 3T 7T us & IR Farsd
U HHAG BT YA 5 =0 & giar 32

1. forems & w9 A

2. AT & ®T H

3.9 & ¥ A

4. dfRd & ® A

Correct Answer :-

o diRd P TT A

15) HTYGERT 7 3T TRWR Bt 70 HISt 97a1s 81 TP JTHA g5 Jera-T1 aiftar ot ararar 81 39w
T Y 9gd UT B 1 U9 Ft FHI LT § 3R T § e T B | Gre¥ U & et § 1 pA-nd, IbTie &
gl ¥ @ waR] § ITAdT g3 UL S 9§ 3T aiTdT ¢ | I0g ot 37 UTH HTW! g1 M9 & 9F fa
TR Ta STelt @ 3R ST $3 [ F1 81 A4l 8 99 PIST F T18% Igar UR ] SAAIPR HIE & ek 98
T IR 954 ¢ MR Upfa &t Ber FerRa &1 398 7t 399 79 3t git frerdt 31 fr g ot 39 fae-w=t
FRd g, TSI dl UTH W gU BRI g9 $t Hed 3t g W 3T wura & Wara § a1 &1 WH it Hifd TR 3d &1

IUad TR P UgHR A1 2T T s F IR Farsd
u: fran vt HIdt HTHRER & g9a1g?

1. ARIISTH

2. ATYIACTH

3. ATIAEH

4. ATYIICTH

Correct Answer :-

16) UGy g &, udd wew,
Ud-ud ufvafdd yefa-asl

AEATHY gdd IR

3T T 1-gHA BTS,
3qa® 8T ¢ TR-IR

H oa # fAs "ETeR,
-foraes IR # uer ard
uor |1 Tt g fammen



fafy &1 kg e IR-3R
e # 999-9 Iaford s
il &) afsal @ gz
R4 © 3T R fasf

ST U B UgHR A1 AT 1T uel & IR 9arsq :
UL: i3 P goR) Pt fras! aig T W 82

1. A Hr 3T H We

2. UgIs I ATEl I ae

3. 98d R N e
4, gUUT &I e

Correct Answer :-

17) UGy g &, udd we,
Ud-ud ufvafdd yefa-asi

AGATHR Udd 3MUR

3T T 1-JHA BTS,
AP ¥8T & IR-9R

4 oa | A 7o,

-foraes IR # uer ard
uor |1 Bt g famen
fafy &1 kg MHR IR-3R
e # 999-9 I«ford s
it &) afsal @ gz
R © 3T R fask

ST TR B UgHR A1 AT 1T uel & IR 9arsq
WR: Udd BT gargard g 872

1. el UGS

2. hadl Ad

3. Shaol 3

4. SO qHY

Correct Answer :-

o 3UUh gAY



e g A, uda udw,
d-ud ivafdd ypfa-a=n

AGATHR Udd 3MUR

I T T-JH BT,
3qa® 8T ¢ TR-9R

H oa # fAe 7ETeR,

-foraes =R ® yer ara
uor |1 Bt g famen
fafy &1 Mg MHR IR-3R
e # 999-9 I«ford o3
Tt #) afsal @ gz
R4 @ 3T R fasie

Iued U=IiR B g - AT 1T usf & 3R gargd
TR IR fHad 7RI BT TH FI W@ 7?2

1. drelTa

2. A

3. gyoT

4. 9dd

Correct Answer :-

19) UGy g &, udd wex,
d-ud uivafdd ypfa-a=n

AEATHY gdd IR

I T T-JH BT,
3qa® 8T ¢ TR-9R

H oa # A 7ETeR,
-foraes = ® e ard
uor |1 Tt g famen
fafy &1 Mg MHR IR-3R
e # 999-9 I«ford o3
Tl #) afsal @ gz
R © 9T R fasfe

Iued U=IiR ) g - 3T 1T usf & SR gargd
U: TR $1 ga-T frad a1 78 82

1. dree |

2. A A afzar &



3. %Ik g0 &
4. YT |

Correct Answer :-

o A H A |

20) UTad Bq t, udd uew,
vd-ud ufeafda ugpfa-asr

AGATHR Udd 3MUR

3 e T-JHA BT,
3qe® 8T & TR-9R
41 oa A A AR,

-Forad == # yar ara
dur 91 Ter ¢ fa=men

faf¥ &1 kg MeR IR-IR
e H F99-99 Ixiferd B
ot &Y afsar @ g
R © 9rT R fAske

S U=l H1 UgH - f T uel & IR ¥argd
T B arare @ qara fead s @2
1.3 |

2.%g @

3.gUur ¥

4.9dd @

Correct Answer :-

- gUUT ¥

21) UEad Bq A, udd uew,
Ud-ud ufvafdd yefa-as

AEATHY gdd IR

3T T -0 BT,
3qeI® T ¢ TR-9R

H oa # fAe 7ETeR,
-foraes 9= ® e 9t
dor a1 Har @ fammen

fafy &1 kg e IR-3R
e # 999-9 I«ford a1



it &1 afsal @ gz
A § T W sl

ST U B UgHR A1 faT 1T uei & IR 9a1sa

URH: UTad Bg ¥ Upfd § S A1 yRad T 82

1. Fad tdd & A e dremdr # gdal & wors @ usdr §
2. had TT-F0 g f&er S T

3. o AFH T I dEadT ¢l

4. ST GH

Correct Answer :-

o ISP T

22) 999 %g I, udd we,
d-ud giafdd ypfa-a=n

AEATHY Jdd AR

3T T 1-gHA BTS,
A T8 § IR-IR
1 wa ® A 7EeR,
-foraes 9= & e 9t
uor 91 Tt g fammen

fafy &1 kg MR IR-IR
e # 999-9 I«ford o3
Tt ot afsal @ grev
A © T R i

SUYa U= BT Ughx 1 AT 1T i & SR 9415y :
U UGN g § UPpid T ©U?
1. g IR gl ¥

2. AT B ST &l

3. & &T0T Jeerdl Bl
4. € deeldm Tl
Correct Answer :-

« T &TUT Jeolcll B

23) UrEad Bq ft, udd uew,
vd-ud ufeafda ugpfa-asr



AGATHY Udd 3UR

3T T T-JHA BT,
3qa® 8T ¢ TR-9R

4 o | A e,

-forad == # yar ara
uor |1 Bt g famen
faf¥y &1 kg MR IR-IR
e # 999-9 I«ford o3
it &1 afsal @ gz
R © 9T R faske

ST U $I g A 73T 7T uei & Iw Fargd
UR: g &1 3 @ 82

1. Bl

2. 31T

3. eail

4. g8q

Correct Answer :-

24) Uraw Bq ft, udd ue=,
d-ud yivafdd ypfa-a=n

AGATPR Udd 3UR

3T T T1-gHA BTS,
@1 8 IR-IR

= o | A 7o,

-forad == # yar ara
uor |1 Bt g famen
faf¥y &1 kg MR IR-IR
e # 999-9 I«ford o3
it &1 afsal @ gz
IR © 9T R faske

ST U $I UgdR A 3T 7T wei & W Fargd
UI: WIENd S-GHT e A T A= 72

1398 & IS T

2. GETsl W&o &Rt el &

3. UgTs r Tl @

4. Gl & HISS 8



Correct Answer :-
. OgrEl W o &R et @

25) Urad Bq A, udd uew,
Ud-ud ufvafdd yefa-asi

AEATHY gdd AR

3T T <1-gHA BT,
8T ¢ IR-9R

H oa # fAe 7ETeR,

-oras =R & yar ara
gdor |1 e § fa=men

farfy &1 TR9 e IR-3R
e # 999-9 I«ford a1
At ot afsal @ grav
A § 7T W sl

I Ui ®1 UgH 14 fu 7T usl & SR ¥a1ga
TR e BT TR T 82

1. ST

2. Hepat

3. 8ol

4. ol

Correct Answer :-

26) UGy Bq I, udd uew,
Ud-ud ufvafdd ypfa-asi

AEATHY gdd IR

3 e I-GHA BT,
3qa® 8T ¢ TR-IR

H oa # fAe "ETeR,
-foraeds == # uer ard
uor |1 Bt g famen
fafy &1 Mg e IR-3R
e # 999-9 I«ford a3
At o1 afsar @ g
R4 @ 3T R faske

ITa U= b1 g 1 AT T i & IR Ia1sy



U A W A A |/ g
1. fagelr

2. e

3. dcaA

4. dqd

Correct Answer :-

27) Uraw Bq ft, udd uew,
d-ud giafdd ypfa-a=n

AGATH? Udd UR

3T T 1-gHA BTS,
AP QT § IR-IR

1 oa A A 7R,

-forad == & yar ara
dor a1 $ar @ fammen
fafy &1 g MR IR-IR
e H F99-9 I«ford &R
Tt ot afsal @ grev
A § T W i

ST U B UgHR A1 AT T¢ uei & IR 9a1sq
U UTgE’ Hg A 1 a1y 82

1. g8 H

2. e g

3.9 %kJ

4. MT *J

Correct Answer :-

28) UTaw Bq I, udd uew,
d-ud giafdd ypfa-a=n

AGATHR Udd 3UR

3 e T-JHA BT,
3qe® 8T & TR-9R

1 oa A A AR,



-foraes == ® uer 9t
uor |1 T g fammen
faf¥ &1 kg MER IR-3R
e # 999-9 I«ford a1
Tl &1 afsal @ g
A § 7T W sl

I Ui ®1 UgH 14 fu 7T usl & SR ¥a18q
UR: 3TN 5T § IR-IR’ | 3qalid F 3 82

1. geAaTr

2. greler

3. @
4. Rell

Correct Answer :-

29) UGy Bq o, udd uew,
Ud-ud ufvafdd wyefa-asi

AEATHY gdd AR

3 ¥ T-JHA BT,
3qaP V8T & IR-IR

H oa # fAe "ETeR,

-foraes 9= # uer 9t
uor |1 B g fammen
faf¥ &1 kg MER IR-3R
e # 999-9 Iford a1
Tl &1 afsal @ g
A § 7T W sl

I Ui ®1 UgH 14 fu 7T usl % SR ¥a18d :
U ‘"' A Tgl Sifium 32

1. o

2. faemg

3. fory

4. HEC

Correct Answer :-



30) UGy %q &, udd e,
d-ud giafdd ypfa-a=n

AGATH? Udd IR

3T T 1-gHA BTS,
AP QT § IR-IR

1 oa A A 7R,

-orad == & yar ara
dor a1 $ar @ famen
it &1 M M IR-3R
e H F99-9 I«ford &R
Tt ot afsal @ grev
A § T W i

ST U B UgHR A1 AT T¢ uei & IR 9a1sq
T A W A A A e

1 g

2. Effelar

3. 3HTeIT

R

Correct Answer :-

Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
"And your hair has become very white,
And yet you incessantly stand on your head,
Do you think, at your age, it is right?”
“In my youth”, Father William replied to his son,
"I feared it might injure the brain.
But, now that I'm perfectly sure I have none,
Why, I do it again and again.”

"You are old,” said the youth, “as I mentioned before,”



And have grown most uncommonly fat;

"Yet you turn a back somersault in at the door,

Pray, what is the reason for that?”

“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple.”™ Lewis Carroll

A word similar to the word ‘incessant’ in the poem would be:
1. continuous

2. periodical

3. ending

4. interrupted

Correct Answer :-

e continuous

2) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
"And your hair has become very white,
And yet you incessantly stand on your head,
Do you think, at your age, it is right?”
“In my youth”, Father William replied to his son,
"I feared it might injure the brain.
But, now that I'm perfectly sure I have none,
Why, I do it again and again.”
"You are old,” said the youth, “as I mentioned before,”
And have grown most uncommonly fat;

"Yet you turn a back somersault in at the door,

Pray, what is the reason for that?”



“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,
By the use of this ointment, one shilling a box.

Allow me to sell you a couple.”™ Lewis Carroll

How would you most likely describe father William?
1. A young, healthy sage

2. An old, fat sage

3. An old, fit, grey-haired sage

4. An old, fat, grey-haired sage

Correct Answer :-

» An old, fat, grey-haired sage

3) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
YAnd your hair has become very white,
And yet you incessantly stand on your head,
Do you think, at your age, it is right?”
“In my youth”, Father William replied to his son,
"I feared it might injure the brain.
But, now that I'm perfectly sure I have none,
Why, I do it again and again.”
"You are old,” said the youth, “as I mentioned before,”
And have grown most uncommonly fat;
"Yet you turn a back somersault in at the door,
Pray, what is the reason for that?”
“"In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,
By the use of this ointment, one shilling a box.

Allow me to sell you a couple.”- Lewis Carroll



What is the 'it' Father William is referring to in the given line?
I feared it might injure the brain

1. putting on excessive weight

2. having grey hair

3. trying a somersault

4. standing on your head

Correct Answer :-

» standing on your head

4) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
"And your hair has become very white,

And yet you incessantly stand on your head,

Do you think, at your age, it is right?”

“In my youth”, Father William replied to his son,

"I feared it might injure the brain.

But, now that I'm perfectly sure I have none,

Why, I do it again and again.”

"You are old,” said the youth, “as I mentioned before,”
And have grown most uncommonly fat;

"Yet you turn a back somersault in at the door,

Pray, what is the reason for that?”

“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple.” -Lewis Carroll

What most likely do you think is the objective of Father William?



1. To show the boy how healthy he is
2. To show the boy his agility
3. To prove to the boy that he is still young

4. To impress the boy and make a sale

Correct Answer :-

» To impress the boy and make a sale

5) Choose the appropriate pronouns for the given sentence .

aunt had a three-year-old daughter when lost husband.

1. His, they, her
2. Her, they, their
3. My, she, her

4. Their, she, his

Correct Answer :-
* My, she, her

6) Fill in the blank with the correct option in the given sentence:

The man was completely devastated and felt _______ all the time, after the death of his wife.
1. longingly

2. longed

3. lonely

4. loneliness

Correct Answer :-

7) Which of the following options best combines the following sentences?
He is very old. He cannot walk.
1. He is old and he cannot walk.

2. He is too old to walk.



3. He is very old enough not to walk.

4. He is so old but cannot walk.

Correct Answer :-

» He is too old to walk.

8) Choose appropriate articles for the given sentence:

Jaipur is ____ beautiful place to visit provided you have ____ proper information of places.
1. a, the

2. an, no article required

3. the, a

4. no article required, a

Correct Answer :-

9) Choose the appropriate option that rewrites the given sentence in its active voice.

Their lessons are being learnt by them.
1. They are learning their lessons.

2. They are learning lessons.

3. They were learning their lesson.

4. They learnt their lessons.

Correct Answer :-
e They are learning their lessons.

10) Choose the appropriate synonym for the highlighted word in the given sentence.

I paid her a compliment on her getting the first place in the university examination.
1. flattery
2. tip

3. praise



4. reward

Correct Answer :-

e praise

11) Choose the appropriate tenses to fill in the blanks in the given sentence:

We can out now. It any more.

1. went, didn't rain

2. going , doesn't rain
3. go, isn't raining

4. never go, isn't raining
Correct Answer :-

e go, isn't raining

12) Choose the appropriate antonym for the highlighted word in the given sentence.

That mistake was a result of crass incompetence!
1. careful

2. insensitive

3. vulgar

4, refined

Correct Answer :-
e refined

13) Choose the appropriate conjunction for the following sentence:

He showed a lot of promise in his new job his manager gave him a quick promotion.
1. because
2. as

3. and



4. but

Correct Answer :-

14) Choose the appropriate prepositions for the given sentence:

Let's be straight each other and don't jump conclusions.

1. against, for
2. with, to
3. at, through

4, for, into

Correct Answer :-

« with, to

15) Choose an appropriate modal for the given sentence:

you pass me some salt, please?
1. Might
2. Must
3. Could

4. Should

Correct Answer :-
e Could

16) Choose the option that best explains the highlighted expression:
Your little brother is a pain in the neck.

1. a toddler

2. a chatter box

3. a big bore

4. a big nuisance



Correct Answer :-
e abig nuisance

17) Choose the option that best transforms the sentence into its Indirect form:

‘Beware of pickpockets,’ said a huge notice.

1. A huge notice instructed us to be aware of pickpockets.
2. A huge notice is warning all the public to beware.

3. A huge notice warned us to beware of pickpockets.

4. A huge notice has claimed us to beware of pickpockets.

Correct Answer :-
* A huge notice warned us to beware of pickpockets.

18) Choose the option that substitutes the given phrase appropriately.

That branch of physics dealing with movement and force
1. Static

2. Dynamics

3. Electricity

4. Energy

Correct Answer :-
e Dynamics

19) Read the sentence carefully and choose the option that has an error in it:

We were officially notified of the newly public holidays.
1. officially notified

2. of the newly public holidays.

3. We were

4. No error



Correct Answer :-
» of the newly public holidays.

20) Read the sentence carefully and choose the option that has an error in it:

Just before he died, my friend who writes books published his second book.
1. my friend who writes books

2. published his second book.

3. No error

4, Just before he died,

Correct Answer :-

* my friend who writes books

21) Change the given statement to indirect speech.

“If you refuse to hand over the car, I will cancel its registration,” said the officer to the woman.
1. If you refused to hand over the car, [ would cancel its registration said the officer to the women.

2. The officer told the woman that if she refused to hand over the car, he would cancel its registration.

3. The officer told the woman that if she refuse to hand over the car, he would cancel its registration.

4. The officer warned the women that if she refuses to hand over the car, he will cancel its registration.

Correct Answer :-

o The officer told the woman that if she refused to hand over the car, he would cancel its registration.

22) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a buyer
of the latest models have got into trouble by buying a car too broad or too long for his garage. Furthermore, a
longer car is much harder to manoeuvre in traffic and much more difficult to park. Another feature is the
comfort afforded. Are the seats nice and durably upholstered? Is there enough glass area to give the driver a
good view in all directions, particularly the rear? It should be remembered that the heavier and more
powerful a car is, the more expensive it will be to operate. High-powered motors require expensive high-octane
petrol. The greater weight means greater tyre wear and enlarged brakes. The old cliché is still true; it is not
initial cost but the upkeep which matters!



It is very expensive to maintain a large car because it
1. is heavy

2. needs more durable upholstery

3. needs changing its tyres more frequently

4. requires more space for parking

Correct Answer :-

» needs changing its tyres more frequently

23) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a buyer
of the latest models have got into trouble by buying a car too broad or too long for his garage. Furthermore, a
longer car is much harder to manoeuvre in traffic and much more difficult to park. Another feature is the
comfort afforded. Are the seats nice and durably upholstered? Is there enough glass area to give the driver a
good view in all directions, particularly the rear? It should be remembered that the heavier and more
powerful a car is, the more expensive it will be to operate. High-powered motors require expensive high-octane
petrol. The greater weight means greater tyre wear and enlarged brakes. The old cliché is still true; it is not
initial cost but the upkeep which matters!

The author favours a car with a wide glass area so that the driver can
1. enjoy the scene outside while driving

2. display his beautiful upholstery with pride

3. have a good view of all sides

4. roll down the glass panes to get enough fresh air

Correct Answer :-

» have a good view of all sides

24) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a buyer
of the latest models have got into trouble by buying a car too broad or too long for his garage. Furthermore, a
longer car is much harder to manoeuvre in traffic and much more difficult to park. Another feature is the
comfort afforded. Are the seats nice and durably upholstered? Is there enough glass area to give the driver a
good view in all directions, particularly the rear? It should be remembered that the heavier and more
powerful a car is, the more expensive it will be to operate. High-powered motors require expensive high-octane



petrol. The greater weight means greater tyre wear and enlarged brakes. The old cliché is still true; it is not
initial cost but the upkeep which matters!

The size of the car should be in accordance with
1. the width of the road where the buyers lives

2. the size of the garage the buyer has

3. the volume of the traffic on the road

4. the money one can afford to pay

Correct Answer :-

« the size of the garage the buyer has

25) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a buyer
of the latest models have got into trouble by buying a car too broad or too long for his garage. Furthermore, a
longer car is much harder to manoeuvre in traffic and much more difficult to park. Another feature is the
comfort afforded. Are the seats nice and durably upholstered? Is there enough glass area to give the driver a
good view in all directions, particularly the rear? It should be remembered that the heavier and more
powerful a car is, the more expensive it will be to operate. High-powered motors require expensive high-octane
petrol. The greater weight means greater tyre wear and enlarged brakes. The old cliché is still true; it is not
initial cost but the upkeep which matters!

According to the author, two factors that the buyer of a new car should keep in mind are:
1. Its upholstery and glass area

2. Its colour and upholstery

3. Its size and comfort

4. Its price and size

Correct Answer :-

o Its size and comfort

26) Fill in the blank with the correct option in the sentence:

She acted as a peace-- between her squabbling children.



1. --sign
2. --ful

3. --fully
4. --maker

Correct Answer :-

e --maker

27) Fill in the blank with the correct option in the given sentence:

When I make a mistake, I am said to --calculate.
1. mis--

2. dis--

3. over--

4. un--

Correct Answer :-

28) Fill in the blank with the most appropriate preposition in the given sentence.

Turn the lights outside. We don’t need them.

4, off

Correct Answer :-

o off

29) Choose the most appropriate determiner for the given sentence.

He gave of us advice about our present goal.

1. each



2. every
3. much

4. the whole

Correct Answer :-
e cach

30) Choose the right tag:

It rained this morning, ?
l.isit

2.isn'tit

3.did it

4. didn't it

Correct Answer :-

o didn'tit

Topic:- Social Science (SSC)

1) Which of the following is the narrowest strait of the world? / fAFfaf@ad & ¥ Fia gﬁ'ﬂT
T I AT FTASHGHET (STadfer) 3?2

1. Strait of Dardanelles / TGIHes ST
2. Foveaux Strait / Bl SJTaaTe

3. Bab-el-Mandeb / 919 37T #Aecd
4, Strait of Tartar / T & T

Correct Answer :-

« Strait of Tartar / T¢I I STrATA



Match the following:

1. Din-i-Tlahi A Abul Fazl
2. Ram Charit Manas | B. Tulsi Das
3. Ain-i-Akban C. Babur
4. Tazuk-I Baban D. Akbar

| Tfef@a &1 fa8are:

1. §eI-U-Semgr A 37del Boldl
2. UH IR AT | B. Jerdl g
3. Ue-U-3hadl C. |la}
4. ged-TaEly D. 3idha¥

1. 1-A,2-B,3-A4-C
2. 1-D,2-A,3-B,4-C
3. 1-B,2-C,3-D,4-A
4. 1-C,2-A,3-B,4-D
Correct Answer :-

e 1-A,2-B,3-A,4-C

Match the following Education Centre with places.

1 Nalanda A Bengal

2. Somapura B_Kashmir

3. Jagaddala C. Bihar

4. Sharada Peeth | D. Bangladesh

| TFATeTaa fRrer dhal &f T & G FBae
1. ATeler AFATA

2. @A | B. %R
3. SAICAr C. T§BR
4. 9TRET WIS | D. S ecer

1. 1-A,2-B,3-C,4-D

2.1-C,2-D,3-A,4-B



3. 1-C,2-B,3-A,4-D
4. 1-C,2-B,3-D,4-A

Correct Answer :-

« 1-C,2-D,3-A4-B

4) The major disadvantage of dramatization is: / dea WWWW ?I
1. It is not suitable for all subjects and topics / J& T fawdt 3R vgal & v sugd a8 &l
2. It improves group cohesion / Ig W AHIET H FUN LT &

3. It promotes self-confidence / I& TcHATTUTE BT ToTdT ST &l

4. It provides opportunity for self-expression / & HcA-3HRARh & T HTE UG T &l

Correct Answer :-

« It is not suitable for all subjects and topics / Ig FH fawdt 3R wHal & fow 3ugH € &

5) Which one of the following is not a part of early Jains literature? /

farafaf@a & ¥ #la v IRPe o s w1 fwar a8 82
1. Brihatkalpasutra / gedoeuqyd

2. Acarangasutra / 3TORERE
3. Therigatha / 93w

4. Sutrakritanga / §IHpdrar
Correct Answer :-

. Therigatha / 23w

6) The Guptas issued silver coins known as: / fcat @ =@ & {Fd yafaa
R, o€ @veT oIaT &

1. Karshapana / @uIqoT
2. Dinara / T&aRT

3. Pana / 4l

4. Rupaka / 4rér

Correct Answer :-



« Rupaka / 3UIehT

7) When does Election Commission orders countermanding of elections? / gelq AR gﬂ'ﬁ’f
& AN FI FT A F AT &2

1. In case of scuffle among contestants / 9 fagfedl & ag %T?ﬂ'qlé & ATHS H|
2. In case of booth capture / U el 'e‘?I?-T Hr afa Al

3. If nominated candidate belonging to a recognised party dies at any time after the last date of

nomination / Ife TRAT A=A UTd Ul @ AfAT 3FACaR A ATdATRa Hr 3ifad AT &
ag frer off a1 g & S B

4. If a new party joins the contest / 39R PIg % TS edTd T H fder gl B

Correct Answer :-

« Ifnominated candidate belonging to a recognised party dies at any time after the last date of

nomination / Ife TRAT ATEIAT UTg Uil @ A1fAd 3FACAR A AATRa Hr 3ifad AT &
are forelt off @ Fjeg & S ®

8) A Social Science teacher has developed an objective type test but she has a doubt about the
reliability of the test. What should be done to ensure the reliability of this test? / T& dHISIS
e fres & v aegiase wFR A e sea A 2, AfFd 3@ afien fir Regweaar w @3 2
3 qheTor dr Reaweigar gafad & & Qv Far K s afge?

1. Cut short the length of the test / TI&TOT & TS HHA P

2. Increase the number of questions / U & HEAT dgIU

3. Try for test retest method / G1&ToT-geA:q1eoT fafer &1 gamd

4. Divide the test into two halves / TI&ToT @t ar el & fasnfaa &

Correct Answer :-

« Try for test retest method / UI&ToT-geA:qaToT fafer a1 v

9) In which year did India face the Chinese aggression? / @ a¥ & $IRd o =l ATHAT T
| T

1. 1955
2. 1964

3. 1962



4. 1965

Correct Answer :-

« 1962

10) Who acts as a link between the Council of Ministers on the one hand and the President as

well as the Parliament on the other? / & 31X #ARafREe 3T Q’ﬂ' 3T U & AIY-91y
TSeafa & T oF FE F w0 F FlT I R &2

1. Vice-President / wrguﬁ

2. Prime Minister / TUTIHAT

3. Cabinet Secretary / hidele Tfaa

4. Parliamentary Secretary / 49¢Ig gfud

Correct Answer :-

« Prime Minister / TTAHAT

11) Who among the following is considered to be an architect of modern Social Science? /

farafaf@a & & R smyfas swfas e #1 aegeEr A@E@r smar 37
1. Auguste Comte / 3FTEC HlFC
2. James High / &9 &%

3. Emile Durkheim / 3#Tgel g@id
4. Charles Beard / amed aus

Correct Answer :-

» Emile Durkheim / gHATSe ggie

12) Who translated Ramayana and Mahabharata from original to Oria language? / Hel a
3NF33m amer 7 AT AR AFHRT FT Jefare e fFam?

1. Fakir Mohan / ®ehIR HAlgeT
2. Madhusudan Rao / HAYICA Id
3. Radha Nath Ray / T[T 1Y

4. Lakshmi Nath Bezbarua / SI&HT AT SSTa%31T



Correct Answer :-

« Fakir Mohan / BehIR Em—t‘»?f

13) Who was not part of ‘Navaratna’ of Akbar? / 3&aX & 'ddlcel’ &1 feEaT Hia el 91?
1. Birbal / fiReler

2. Raja Todar Mal / TSTT TI3Y Hel

3. Raja Bhara Mal / {TSIT A Hel

4. Tansen / dTeT@el

Correct Answer :-

« Raja Bhara Mal / TSTT AR Hel

14) Who used to be the chairman of Planning Commission? / TSI+ 3TANT & 3eqaT HieT g

&7

1. Comptroller and Auditor General / IGRECIICIES HeTol@T UdieTsh
2. Commerce Minister / dTioTad FAT

3. Prime Minister / TTTHAT

4. Finance Minister / T &3

Correct Answer :-
o Prime Minister / TUTTHAT

15) Who developed Sociometry as a technique for assessing relationships among members in a
social group? / T& WHAIfA® WHE # WAl & €T FaUl &1 HFaad w1 & AT tF aFlld & ¥
# e gaefafa &1 R{em

1.J.L. Moreno / S1.TS. #AREAT

2. Max Weber / #ddg deR

3. Henry Murray / &1 Eﬁ

4. John V. Michael / Siied Y. #ASHd

Correct Answer :-



« J.L. Moreno / .U, #ARAT

16) Akal Takht in Harmandir Sahib was built by: / gR#AFeX TIfgd & 3rh1er d&a &1 AATOT
et q@Enrr foFar o O

1. Guru Nanak / 9% ol

2. Guru Angad / % 391G

3. Guru Hargovind / 9% ETIEE
4. Guru Govind / 9% Mide

Correct Answer :-

+ Guru Hargovind / 7% wnfde

17) is the quantity of all goods of imports and exports in a year by a country. /

TF U gaNT U a¥ H I IR @It F wsft Al & AmEr g
1. Tariffs / UR[e<h
2. Volume of trade / SITUR GIRATOT
3. Quotas / PIeT

4. Embargo | ATUR-UfRIY

Correct Answer :-

« Volume of trade / SITUR gRAHATOT

18) implies severe indictment of the government though it does not require resignation

of the Council of Ministers. / HT dIC9Y TIHR & T YRIYOT F &, STelifeh 0+
T ARgRYe & sl v 3maegwar € 2

1. Cut Motion / deldl U&drd

2. No - Confidence Motion / 3TI4TH UEdTd

3. Adjournment Motion / PRIEI JEATd
4. Censure Motion / [d=er UEaEg

Correct Answer :-

« Censure Motion / [d=er g&dg



19) society feels concerned about meeting the needs of all its members. / AT

w9 W WAt £ SEt B QU A & AR F Rianhe e ¥
1. Egalitarian / GATATARRATE!

2. Elitist / HHTTaTE

3. Class Oriented / I3 3-H@

4. Sectarian / TTIETAD

Correct Answer :-

« Egalitarian / GATATTARRATE)

20) is a process of increasing knowledge, skills and capacities of the people of the

country. / A F RN & T P 3R gt F ggM B U uihar g1
1. Human resources / HATId FaTIA

2. Human Capital Formation / AT q\Gﬁ IGEIYI

3. Physical capital formation / §ifdies Cﬁﬁ fSaTor

4. Capital formation / CLG‘T IGEIY

Correct Answer :-

« Human Capital Formation / #Telg Gaft fA&ToT

21) The industry which produces machine tools which are, in turn, used for producing other
goods for consumption purpose. / dg 3E:€I’I'JT S Fefiel FSRT &1 3cdTgsT FIAT &, ST TG
A, 3YANT F 35T A IHeT FEGHT FT 3eUleaT A & fAv swahr fmdr sma &)

1. Fiscal goods / ISR HTel
2. Capital goods / GairoTd HTel
3. Consumer goods / SUHIRT ER—T:[‘Z"

4. Perishable goods / @I §l dTell HTel

Correct Answer :-



The Rig Veda samhita denotes one-fourth of its hymns to : / %3¢ afgar & sud vH-dlars
ot &Y SoTh forw T = §:

1. Agni / 33
2.Indra / 3¢
3. Rudra / %¢
4, Marut / HARRA

Correct Answer :-

« Indra / 3g

23) The matters or subjects of common interest to both the Union Government as well as State

Government are included in____ list/ g WHR IR ToT TR g&T & AT aweg Ba
& A T1 vy ¥t # anfde @ &

1. Concurrent / FHAAT

2. Union / @9

3. State / o™

4. Uniform / ThHHATA

Correct Answer :-

« Concurrent / GHIAT

24) The government of India established to coordinate the activities of all institutions
involved in the rural financing system. / AR THR o AT e sgaear & afder Fsit
ey A Afafdfdt § gAeay F Qv & T F I

1. National Board of Agriculture and Rural Development / TI'Q’RT ?gﬁr 3R g e 9

2. National Board of Agronomy and Rural Development / ITET Fff@ faettel 3R amafioT fawra
GIES

3. National Bank for Agriculture and Rural Development / T8I Eﬁﬁf 3R arefior e 46
4. National Bank for Agriculture Reconstruction Development / ITEII W gaﬁm‘rw e da

Correct Answer :-

« National Bank for Agriculture and Rural Development / IJTE1 ?51:@ 3R arefior e da



25) The song Vande Mataram was first published in which text in 1882. / & HATAH INd Igeir
IR 1882 H fhE HGAXOT A YRR §IHT AT

1. Anandamath / 37 #AS

2. None of the above / SlTé?F H A PSS A
3. Gitanjali / INdTSIfl
4. Gita Rahasya / frc IoEd

Correct Answer :-
« Anandamath / 37<¢ #S

26) The method of learning in which the students are given an open question and they design
investigation methods to arrive at conclusion is known as: / ¥@at i R Swd o= &
sfaftla wea Ram smar § 3R 3 fsnd W ogER F v o R # e @ §) st &
39 ygufa & F T # =T AT 2

1. Conformation inquiry / fa&gor Sra
2. Guided inquiry / ERE Sirar

3. Open inquiry / gell SAid

4, Structured inquiry / EIT S

Correct Answer :-

+ Guided inquiry / ARG Jra

27) The main tenets of Mahatma Gandhi’s basic education is: / AgIcAT el i #HIfQF Rew =t
e fAgud ¢

1. Education should develop a strong man / fRU&T @I Teh Hqd AJST Pl TIhrd HIAT T
2. Education should be self-supportive / A& 3TcafasR gl arfzu|

3. Education should be based on cultural and social heritage of the Land / f1&TT &5 T 4 Fagiéaﬁ
3R el fred W 3maRa e @nfeo)

4. Education should be activity-centered / T&TT IMATATA-dhigd ar aTfeU|
Correct Answer :-

« Education should be self-supportive / fAU&T FcATAIR T aIfew]



28) The process of hiring an outside contractor, especially from foreign countries, to perform
their work is termed as /Ty v @ ARl qut & ve Al SFER A AgTFd FA
#r yftean, o & F1  Asaifea fFar s @& & w0 # gRenRa f s

1. Outer Space financing / dIT&l TJT IEGEIL
2. Overseas financing / faeel fagayoT

3. Outstation sourcing / IT&l TATA Elclel

4, Outsourcing / Eﬂ%@ﬂ?lc_-f

Correct Answer :-

 Outsourcing / afe:@aa

29) Which one of the following is not a characteristic of evaluation? / Rwfaf@a & & Fr
Ao $T U faevar 78t 8?2

1. It implies a systematic progress / FH®T dlcdd Tk qAedd worfd & ¥
2. It is a continuous process. / I& Teh Hdd UfRAT &l

3. It always assumes that educational objectives have previously been identified and defined. / Ig

R AT ST § fop Af&d 32aT A usst ugarar 3w aRena forar am=m &)
4. It does not give emphasis to personality changes. / & cafthcd URadd W AR A& ST &

Correct Answer :-

« It does not give emphasis to personality changes. / I& cafthca TRadd WX IR AL T &l

30) Which one of the following is not a characteristic of critical thinking skills? / ffaf@a #
¥ 71 e @ Fhra i v [FAvar a8 82

1. Being time consuming and laborious / 31f0% FHAI o arerm 3R Rl gan

2. Being resourceful and creative / AU HUeed 3R TATcHD &l
3. Being systematic and deductive / cgafRyd 3R Adisrs e
4. Being reasonable and rational / INTIT 3R IhFIT Elr

Correct Answer :-

« Being time consuming and laborious / 3% FHT o arerm 3R alisE gar



31) Which one of the following is not included as a function of summative evaluation? /

famafaf@a & @ i Domens Fqeaiwa F FE F T A afAT T@
1. Promoting / WcaTes

2. Selecting / TITAT HIAT

3. Discriminating / TafigHRY

4. Crediting / & T

Correct Answer :-

« Discriminating / TafigerY

32) Which statement about Kabir is correct? / it & a0 A HidT AT FUT T ¢?
i. Kabir Das was disciple of Ramananda. / Fd & {#AG & frsa &)

ii. Kabir belonged to the Muslim weaver family. / FdR ARFTH g7 qRar & 1

iii. Kabir believed God is one and people just worship him with different names. / FdX T
AT A7 fF Seav wF ¥ 3R A 9w 39 Rffew = & @a

1. All are correct / T Tl %
2.Onlyii / /%dd ii

3. Only iii / /hdel iii

4. Only i / hddl i

Correct Answer :-

o All are correct / Hd H‘é’[ %-

33) Which of the earthquake wave travels fastest? / fore H‘E?Fm ar Y gEA a9 afa gy
2

1. P-Waves / UT-d<ar
2. S-Waves / TH-dLT
3. L-Waves / Tol-ddl

4. T —waves / I-adar

Correct Answer :-



« P-Waves / OT-aat

34) Which programme of the Government of India promises to extend livelihood security to the
rural households by providing one hundred days of guaranteed wage employment in every
financial year to every household? / TR HIHK T HleT AT FFHHA ¢ BT # g7 o a¥
# v @ e f IR aren A9R verT FF qretor aRart B arshifasr geaw & F;
areT FT §?

1. Jawahar Rozgar Yojana (JRY) / STaTER ISR FISTAT (S1.37R.a1S)
2. Sampoorna Gramin Rozgar Yojana (SGRY) / H?C[U‘f AT YSHIR JSTAT (TH.S.3R.aA13)

3. Integrated Rural Development Programme (IRDP) / ('?ﬁw T faeE ARk
(317331 3N.UT)

4. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / AGIcHT ey
TET PIAIT VSR RS HATAIH (A

Correct Answer :-

« The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HEIcHT I
TERT AT VSR IR HATAIH (A

35) Which is miniature of the parliament of India at the grassroots level? / HeHd FIX W
AR #T TUS FT aY T 47 §?

1. Gram Panchayat / AqTH g
2. Gram Sabha / ATH AT

3. Block Panchayat / cllep TATId
4. Zilla Parishad / fSrelm aRug

Correct Answer :-

o Gram Sabha / ATH AT

36) Which among the following is not function of Central Bank of India? / fa&=ifaf@a 7
FIT ecd dF A6 AT T F 781 &2

1. Custodian of foreign reserves / fagefr Hal SR &1 HIFRETH

2. Operation of Direct Benefit Scheme to the rural poor / JTAOT INET & TOIT UcIeT oIt Jratdr
®T HdTeld



3. Bankers bank / &3 &T &eh
4. Controller of credit / 0T (a?%_cf) G ERIEG

Correct Answer :-

« Operation of Direct Benefit Scheme to the rural poor / ATHTOT Il & foIT TcTeT oeT Irotelm
P ATl

37) Which among the following countries typically follows a free market economic system? /

farafaf@a aut & & Fla-ar Ao, AFT TER IFAF Jommelt F1 ITEOT FIAT T2
1. Cuba / Fg@T

2. South Africa / GT&T0T 33hehT

3. China / @

4. USA / Ggh T AP

Correct Answer :-

« USA/Egh T IHAUH

38) Which mass based organization’s initiative led to the passage of Right to Information Act? /

o # HOFR g o w1 § Qv e awfes smaRa @red 1 9w g9

1. National Campaign for Human Rights Initiative / ATAAIAGR Ugel & o T FfFI

2. Great Legalisation Movement India / HAgIT defieoT igeld ARG

3. Mazdoor Kisan Shakti Sangathan / ey ehdTe 2ATh HITaT

4. Self — Respect Movement / TI-GFHATA HTGTel

Correct Answer :-
« Mazdoor Kisan Shakti Sangathan / H#STGY forarear s dIraaT

39) Which Commission was appointed by the Government of India to bring changes in
secondary education system to make it better for the nation?

/| AR WIHR @RI A 3T FY aeg F AT g a9 G AveafAT R gome &
Wﬁa‘lﬁﬂ?ﬁ'@ﬁ'ﬂﬁmm"

1. Mudaliar / H&TTer—IR



2. Srikrishna / #1epeuTr
3. Ramaswamy / THTEGTHT

4. Kothari / PIoRY

Correct Answer :-

- Mudaliar / HETfer—AIR

40) How much time difference is there between two longitudes? / &I 2Madl & stor fhd=r
AT 3R ghar §?

1.2min / 2 fAee
2. 12min / 12 fae
3.8min / 8 fAaT
4. 4min / 4 fAae

Correct Answer :-

« 4min / 4 e

41) How many ‘subjects’ have been assigned to Local Governments through Constitutional

Amendments? / H3tfa® FNUT F ATEIHA § TIAT THRT 1 fFaa fFar d@F =3 2
1. 10

2.19
3.39

4. 29

Correct Answer :-

42) Which of the following is an outcome of pragmatic school of philosophy? / faFafaf@a #E Pl
SATATET & SATERAAF [IGITAT FT UH TRUMH 8: -

1. Project method / URAIST (Wetee) fafea
2. Discussion / OR=0

3. Team teaching / EraT fRrafor



4, Source method / Iid Taf&r

Correct Answer :-

* Project method / TR (Uatere) fafdr

43) Which diagrammatic representation would you like to choose to show Proportionate Allotment of
National Income to different categories? / faffieer Aforay & 11"@'!1' T F NTﬂﬂTfa'ﬂ'T e &
ffam ¥ v amo fFe M fAwaor it gorer ardae

1. Flow diagram / 9dTg 3RQ
2. Time Lime diagram / T8 ollSH 3IRE
3. Bar diagram / R 3@

4. Pie diagram / UT§ 3@

Correct Answer :-

» Pie diagram / 8 39

44) The National Curriculum Framework, 2005 insists that Social Sciences must link child’s life at
school with: / TSERT UTST=AT Hi FI@T, 2005 38 a1 W AR N § BF o & wnfos Ba=
I g & e § AT g@rr sigen wnfye: -

1. Real life outside the classroom / T&TT & ITEL BT ATEATID SiTde
2. Life inside the classroom / &&TT & IR Siaa
3. Textbooks in the classroom / &&TT 3 CITQ'&W

4. Teacher’s expectation / TRr&/® P sruen

Correct Answer :-

« Real life outside the classroom / @&l b SIRYCH] arEA T Side

45) The Aihole Inscription is ascribed to which of the following rulers? / fAFfaf@a amasr
¥ fFad ganr W@ Raea ff@a a ard 82

1. Kharvela / @Rdol
2. Bimbisara / Qf@aar

3. Rudradaman / 3Gl
4. Pulkeshin Il / Gerehefl feeiar



Correct Answer :-

o Pulkeshin II/WQ’I’T FGIE
46) Which of the following is a plantation crop? / fFufif@a # § 19-3 T gemRiuv wad 82

1. Sugarcane / Tl
2. Cashew nut / ol
3. Cotton / PUH

4. Red Chili / &Ter fr

Correct Answer :-

o Cashew nut / oI

47) Criterion-referenced evaluation refers to: / HFGS-HaId eIidH BT dTedd gl

1. Evaluation based on a set of predetermined criteria / q@ 4iRd AEST & T AT & IR W
Hedlhed AT

2. Evaluation conducted without any arbitrary norms / &l 8 ATHAR AAEST & Hediched & faam
AT e

3. Evaluation carried out after conducting pilot test / URTHeh TNETUT A & dlG Hediched HIAT

4. Evaluation administered as post-test mechanism / Hgdiehed & a1 UNETOT dF & &U H geniad
hIAT

Correct Answer :-

« Evaluation based on a set of predetermined criteria / & fa4iRa AFEST & T A F IUR W
HeLehel LA

48) In collaboration with an organization in which among the following countries, the
Ministry of Earth Science has launched ‘Project Varsamana’ as a cornerstone of the Indian
meteorological department modernization programme? / T&% S8 & gean A fAafafea =
# A forad, gedt fagm damerm F uRd TR fRumT snyfateror sriey 9t snuRRrear & wu &
‘Hioide qEEAT TR fHar g2

1. France / T8
2. Russia /&9
3. USA / 31@RahT



4. Germany / SToiT

Correct Answer :-
« France / %I

49) Continuous and Comprehensive Evaluation has transformed the evaluation system as: /

qad 3R SAIF AR F Hediwe Jomer H F T # wala = e

1. More complex by incorporating too many details / ggd &R faaxoit @l enfder aed 3R S
sifee

2. More comprehensive for scholastic areas only / &ad Adfétw &1 & fow 3% caus

3. Vague as exact rank of the student cannot be found out / 31AUE, Fifh BT & Teld (b T Tdl
el ST ST HhdT ©&

4. More reflective of the entire personality of a student / T& B & U Afthed & fawg & 3w
IBRENIC
Correct Answer :-

« More reflective of the entire personality of a student / T BT & YOI Ifthed & fawg F 31fAw
[EGEHIC]

50) The chalcolithic site Inamgaon of ancient India belongs to which of the following states? /
famafaf@a & @ Fw To7 @ wrle sRa &1 am@F 9T Jor (AenfafdE) T
SATHING oA g7

1. Maharashtra / ASRTY
2. Rajasthan / {ToTEATA
3. Karnataka / SlTedh

4. Gujarat / I[SITc

Correct Answer :-
« Maharashtra / ATRTEY

51) In which of the following session of the Indian National Congress the resolutions on
Fundamental Rights and National Economic Policy were passed? / $TRIT IsEIT HET &
e & @ Fe @7 # Al 3fReR ik dw anfds Aifs ® aFer afta FF =2

1. Faizpur, 1936 / a1y, 1936



2. Lahore, 1929 / ST&IX, 1929
3. Karachi, 1931 / BT, 1931
4. Belgaum, 1934 / 19113, 1934

Correct Answer :-
« Karachi, 1931 /&1, 1931
52) The first mass movement against British India was : / ffeer #IRa & %qyr 9gar s & 4

1. Non-Cooperative movement / IR-TepRY 3erea
2. Swadeshi Movement / Tacall 3farelel

3. Quit India movement / ¥Rd S8l 3ol

4, Khilafat Movement / T&@Thd 3figra

Correct Answer :-

o Swadeshi Movement / Taeel 3figielel

53) Margosa oil is obtained from which of the following trees? / ATIAT A« fAFfaf@a A
& 95 & urea gar 82

1. Ficus / BIshdA

2. Babul / 9T
3. Neem / I

4. Bamboo / I8

Correct Answer :-

« Neem / T3

54) Which among the following is the World’s largest Wetland System?
| frafaf@a & & Fia @ RAeg @ ga@ 7371 IndA gomreh (Jeeds Rvew) 32

1. Everglades (USA) / Uaidelsd (JUHT)
2. Okavango (Botswana) / Iprardll ( dicadrar)

3. Pantanal (South America) / Ueddellol (&f&oT 3TARPT)



4, Camargue (France) / AT (BIE)

Correct Answer :-

« Pantanal (South America) / Uedollel (T80T 3AR®T)

55) Scientific study of soil is known as which of the following / P&ifaf@a & @& #aT &1
denfas Ireawsr a1 Fgaan g7

1. Soilology / EISalellair
2. Pedagogy / USHTISH
3. Pedology / UsTelieil
4. Ontology / 3ficrarsit

Correct Answer :-

« Pedology / USTelfstl

56) Greenland comes under which of the following Jurisdiction? / s, Aw=faf@a & &
fras srfter-aa # smar 82

1. Danish / 3faer
2. Norwegian / ATd o
3. US / 3R

4. Dutch /39

Correct Answer :-

« Danish / sfaeQr

57) Which year was ‘Project Tiger’ launched in India? / #Rd & ¥ a¥ & ‘ga+e ezR’
IRFN fFar = 9r?

1. 1973
2. 1974
3. 1971

4. 1972



Correct Answer :-

e 1973

58) Who succeeded Shivaji Maharaj as the Maratha king? / AT TSIT & & & fAarsi
HAERIST &1 TSN FieT Far?

1. Shahiji / TSl
2. Shahuji I / <IgSi I

3. Rajaram [ / ISTRIHA |

4. Sambhaji Bhosle / THTST el

Correct Answer :-

« Sambhaji Bhosle / THTST el

59) The cold layer extending up to the ocean floor is called? / HHg T dH thelt 38 T F
T Fgl ST 82

1. None of the above / 30w & & Pl el
2. Epilimnion layer / TUforafaaa @a

3. Thermocline layer / THATFASA URd

4. Hypolimnion layer / E8UIfordATa gl WRd

Correct Answer :-

« Hypolimnion layer / E3WTATATA TR

60) Social Learning theory was introduced by: / o SiferTH Rigia & gRT U= far T
YTl

1. Sigmund Freud / s wigs
2. Carl Jung / @Tel TaT

3. Carl C. Rogers / @l €. 518
4. Albert Bandura / 3feq¢ dqq

Correct Answer :-

« Albert Bandura / 3Tedc a@






